JEAT 5

PEZR

w4

AHMR—EE (F) BFHPURE (2)
AgiE): 60 28R &5 100 1
h

FE — Z = | @ Nt N Be
- @
29— BESH. (69)
()M () A (At
o0 ) ()4 () A
B () SiE: () BiE:
k BEE: ( ) EE: ( ) BEE: (

T MT0MSHIRARE ()M () .
2. 10026 () MBS,
fssﬁﬁtﬁ9,+mtﬁz,ﬁ¢ﬁ%( )
4. s,

=

() )3334( )36( ) ()
()80 ( )60 ( )40( )20 ( )

|5, EE .

O 2)

HEN -




6. REXKEEL.
M ERZ 5 {BEE 60 NIFRREL, M ERZ 6 {BEE 56 /NIFIREL.

[ %
E.j:l‘ - I-.! __,.-"J‘
B AR N

&)
e ( /]9t )

(1) ELER—IBtIHR, B2Mm () MERENN. EHE8 ()
PNESF, () A=/ K, () NMHTEER.

(2) BLERVEF, BRH () MEFEN. HEFE8 (1 ) 1
=/, () DTSR,

=. BEESEH.

15-8= 44+9= 50+8=
20+3 = 9+20= 58 -8=
8+80= 1+70= 45+8=
3+70= 5+30= 85-80=
9+7= 70+ 8= 14-8 =

m. () BEEAEON,
( ) +9=13 ( )-9=9 78-( )=70 19-( ) =10
( ) +10=90 e66-( ) =6 32+ ( ) =62 89-( ) =9
f. EoEMAE “>" “<" H ="



67-30035 69025+40 990100
88065+8 100010+10 3+20023

7~ BEE—IA.

1. EARRESNHBE S —2ES .
mnJIE | Bk | BT | $RERiH
AEL

ANEL
t. FE5IK.

== = = ? 4

3-3'-3'3' g D "

COL= OL -
? 4
RO s
15 =3

BEEE I



I\, BRI,

(1)R8ELAS D2 DR?

- (R)

(2) XBLLESZAR?

-[ ]

(3) XSFHE—AELDR?

O =] | &

3. INEBER 90 AEP, B 40 AB, ERTSOA?

OBE (%)

4. WAFEHESF 15 ReF, HPERE8 R, AR8EPR?

O =l J®

5. WHENSEET 20X, B 9 R, W ERKEZDPRNG?

O =l | ®




—. 3,5, 35, =41, 2, 4, 24, —_+M, 8, 7, 87, )\++t.

—. 69, 711, 10, 29, 31, 32, 35, 37, 38, 90, 70, 50, 30, 10.

13, 22, 24, 33, 16, 25, 26, 15, 25, 35, 45, 55, 16, 26, 36,
46, 3, 1, 5, 1, 3, 1,

=. 7, 53, 58, 23, 29, 50, 88, 71, 53, 37, 35, 5, 16, 78, 6.
/g, 4, 18, 8, 9, 80, 60, 30, 80,

hH., >><>>=

7~ 4, 2,3,5, 4

. 8+5=13, 12-3=9, 15-3-4=8, 40+5=45, 5+40=45, 45-40=5,
45-5=40,

J\.14-8=6,12-6=6,11-6=5,6+11=17,90-40=50, 15-8=7,20+9=29



